HERIRIFRE (FHAEE)

FEB
PR R EFIR BEFREFR
FEB FEEY | BFEEH B = HF R RKEE H EiE HhERE S AR HE R mE Ix R HE  [zotosEE H
HE|—E|FE|—E|FE| & || || || | FE| R R R R B FE| B 5| B 5| B 5|8 e B e B FE| 8 FE|—8

X2 161 23 5 3 1 0 9 9 12 5 1 o] 27
BEFE 49 2 1 0 1 2 1 0 3
R 192 3 1 0 1 3 2 0 5
BHEZE 239 0 0 0 0
HPE 262 32 5 12 o 17 16 15 1 0
I8 76 0 0 0 0
=FE 217 of o 5 0

&t 1,196 65 0 5 0 5 0 5 o 12 0 1 of 28] o 9 0| 17 of 8 0 16 o0 200 o o o o o 1 0 1 o0 o o0
KIZEOBEFERRE EFRHIOEEFT
PN

REREEFR BEFREHFRK
2 ETEH BRSEEHN &G = HE R e &t EiE Hh IR YNES HE R ¥ 3 Ix E#R BE  |zohosnmEsE &
A A A S A e A A e A e e A e A A e A e A e A e A e A e A e A e A e A A e - A A

AXFELZRF 32 3 1 2 3/ o 1 2 1 3 1
kRS BER 33 0 00 o of o
ABIREZRF 16 1 1 1 0 1 1 2l 0
=l o 40 0 o0 o o0 o
BEERT 45 0 o0 o o0 o
T 144 9 6 6 O 9 9 o
HIRZ T 47 7 5 5 0 7 7 0
AT LEGEERT 69 4 2 2l 0 4 4 0
HWBEEBIZEHR 225 1 1 1 0 1 1 0
EYMERRERZERM 223 1 o0 o 1 0 1

&t 874 26 1 o 3 0 5 0 9 o0 o o 18 o0 1 o 3 0 1 1 7 o 14 1 oo o o o o o o o o o 26 2




